| NORTH FORT THOMAS AVENUE SIDEWALK PROJECT | | | | | | | | | | | | | |
|---|---|--|-----------------------|--------------------|--|------------------|-------------------------|------------------|--------------------|------------------|--------------------|------------------|--|
| FORT THOMAS, KENTUC PROJECT: 180 | | | | | ENGINEE | R'S ESTIMATE | TMS CONSTRUCTION | | JPS CONSTRUCTION | | PRUS CONSTRUCTION | | |
| | consultants | Beausing weighting - eathering | Bid D | ate 1/29/2021 | | | inio obnornos | | | | 1,000 00.00001,0 | | |
| | NORTH FT. THOMAS AVE - COVERT RUN PK TO N. RIDGE AVENUE | | | | | | | | | | | | |
| Company parties to the | meromaanidasi | NORTH FT. THOMAS AVE - COVERT RUN PR TO N. RIDG | | | :::::::::::::::::::::::::::::::::::::: | | 191 1-0124-002 6 | | | | | | |
| ITEM NO. | SPEC. NO. | ITEM | Estimated Quantity | Unit of Measure | Unit Cost Total | Total Amount Bid | Unit Cost Total | Total Amount Bid | Unit Cost Total | Total Amount Bid | Unit Cost Total | Total Amount Bid | |
| 1 | 110 | MOBILIZATION (NOT TO EXCEED 5% OF BID) | 1 | LS | \$15,000,00 | \$15,000.00 | \$15,000.00 | \$15,000.00 | \$12,000.00 | \$12,000.00 | \$5,000.00 | \$5,000.00 | |
| 2 | 112 | MAINTENANCE OF TRAFFIC | 1 | LS | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$11,000.00 | \$11,000.00 | \$30,000.00 | \$30,000.00 | |
| 3 | 202 | CLEARING AND GRUBBING , (INCLUDES REMOVAL AND REINSTALLATION OF SIGNS AND MAILBOXES) | 1 | LS | \$15,000.00 | \$15,000.00 | \$20,000.00 | \$20,000.00 | \$12,000.00 | \$12,000.00 | \$25,000.00 | \$25,000.00 | |
| 4 | 202 | REMOVE CATCH BASIN | 6 | EA | \$500.00 | \$3,000.00 | \$250.00 | \$1,500.00 | \$300.00 | \$1,800.00 | \$550.00 | \$3,300.00 | |
| 5 | 202 | REMOVE EXISTING TRENCH DRAIN | 1 | EA | \$500,00 | \$500.00 | \$250.00 | \$250.00 | \$700.00 | \$700.00 | \$500,00 | \$500.00 | |
| 6 | 204/206 | EXCAVATION AND EMBANKMENT AS PER PLANS | 300 | CY | \$30.00 | \$9,000.00 | \$20.00 | \$6,000.00 | \$90.00 | \$27,000.00 | \$170.00 | \$51,000.00 | |
| 7 | 212 | 4" TOP SOIL, SEED AND MULCH | 5,000 | SY | \$4.00 | \$20,000.00 | \$4.00 | \$20,000.00 | \$6.00 | \$30,000.00 | \$9.75 | \$48,750.00 | |
| 8 | 212/213 | EROSION CONTROL AS PER PLAN | 1 | LS | \$7,500.00 | \$7,500.00 | \$1,500.00 | \$1,500.00 | \$2,000.00 | \$2,000.00 | \$5,000.00 | \$5,000.00 | |
| 9 | 402/403 | ASPHALT DRIVEWAY REPLACEMENT | 1,000 | SF | \$11.00 | \$11,000.00 | \$10,00 | \$10,000.00 | \$12.00 | \$12,000.00 | \$15.50 | \$15,500.00 | |
| 10 | 505 | 6" CONCRETE DRIVEWAY APRON REPLACEMENT | 10,500 | SF | \$11.00 | \$115,500.00 | \$10.00 | \$105,000.00 | \$10.25 | \$107,625.00 | \$6.00 | \$63,000.00 | |
| 11 | 505 | CONCRETE SIDEWALK | 16,000 | SF | \$10,00 | \$160,000.00 | \$9.00 | \$144,000.00 | \$9.15 | \$146,400.00 | \$5.00 | \$80,000.00 | |
| 12 | 505 | CONSTRUCT ADA CURB RAMP WITH TRUNCATED DOMES, AS PER PLAN | 8 | EA | \$800.00 | \$6,400.00 | \$600.00 | \$4,800.00 | \$175.00 | \$1,400.00 | \$700.00 | \$5,600.00 | |
| 13 | 506 | VERTICAL CURB | 200 | LF | \$40.00 | \$8,000.00 | \$40.00 | \$8,000.00 | \$40.00 | \$8,000.00 | \$38.00 | \$7,600.00 | |
| 14 | 506 | VERTICAL CURB AND GUTTER | 150 | LF | \$50.00 | \$7,500.00 | \$50.00 | \$7,500.00 | \$50.00 | \$7,500.00 | \$40.00 | \$6,000.00 | |
| 15 | 710 | CATCH BASIN | 5 | EA | \$2,000.00 | \$10,000.00 | \$2,500.00 | \$12,500.00 | \$2,000.00 | \$10,000.00 | \$3,100.00 | \$15,500.00 | |
| 16 | 710 | DOUBLE GRATE INLET | 2 | EA | \$3,500.00 | \$7,000.00 | \$3,000.00 | \$6,000.00 | \$3,200.00 | \$6,400.00 | \$4,000.00 | \$8,000.00 | |
| 17 | 710 | STORM MANHOLE | 1 | EA | \$3,000.00 | \$3,000.00 | \$3,500.00 | \$3,500.00 | \$3,000.00 | \$3,000.00 | \$5,000.00 | \$5,000.00 | |
| 18 | 701 | 12" STORM SEWER | 95 | LF | \$90.00 | \$8,550.00 | \$100.00 | \$9,500.00 | \$100.00 | \$9,500.00 | \$75.00 | \$7,125.00 | |
| 19 | 701 | 15" STORM SEWER | 10 | LF | \$110.00 | \$1,100.00 | \$150.00 | \$1,500.00 | \$100.00 | \$1,000.00 | \$190.00 | \$1,900.00 | |
| 20 | SPL | CONNECT DOWNSPOUT TO CATCH BASIN | 1 | EA | \$1,000.00 | \$1,000.00 | \$250,00 | \$250.00 | \$300.00 | \$300,00 | \$250.00 | \$250.00 | |

| | | /ENUE SIDEWALK PROJECT FORT THOMAS, KENTUCKY PROJECT: 180223 Bid Date 1/29/2021 | | ENGINEER'S ESTIMATE | | TMS CONSTRUCTION | | JPS CONSTRUCTION | | PRUS CONSTRUCTION | | |
|-------------|-----------|--|-----------------------|---------------------|--------------------|------------------|--------------------|------------------|--------------------|-------------------|--------------------|------------------|
| | | NORTH FT. THOMAS AVE - COVERT RUN PK TO N. RIDG | E AVENUE | | | | | | | | | |
| ITEM NO. | SPEC. NO. | ITEM | Estimated Quantity | Unit of Measure | Unit Cost Total | Total Amount Bid | Unit Cost Total | Total Amount Bid | Unit Cost Total | Total Amount Bld | Unit Cost Total | Total Amount Bid |
| 21 | 714 | STOP BAR, 24" (THERMO) | 35 | LF | \$40.00 | \$1,400.00 | \$15.00 | \$525.00 | \$15.00 | \$525,00 | \$12.00 | \$420.00 |
| 22 | 714 | CROSSWALK STRIPING, 6" (THERMO) | 350 | LF | \$10.00 | \$3,500.00 | \$6.00 | \$2,100.00 | \$5.00 | \$1,750.00 | \$6.00 | \$2,100.00 |
| 23 | SPL | RETAINING WALL | 600 | SF | \$40.00 | \$24,000.00 | \$55.00 | \$33,000.00 | \$30.00 | \$18,000.00 | \$70,00 | \$42,000.00 |
| 24 | SPL | HANDRAIL | 110 | LF | \$40.00 | \$4,400.00 | \$50.00 | \$5,500.00 | \$50,00 | \$5,500.00 | \$120.00 | \$13,200,00 |
| 25 | SPL | ADJUST SANITARY MANHOLE TO GRADE | 1 | EA | \$750.00 | \$750.00 | \$500.00 | \$500.00 | \$200.00 | \$200,00 | \$900,00 | \$900.00 |
| 26 | SPL. | ADJUST WATER METER TO GRADE | 8 | EA | \$750.00 | \$6,000.00 | \$250.00 | \$2,000.00 | \$75.00 | \$600.00 | \$1,000.00 | \$8,000.00 |
| | | TOTAL | | | | \$459,100.00 | | \$430,425.00 | | \$436,200.00 | | \$450,645.00 |

| C | NORTH FORT THOMAS AVENUE SIDEWALK PROJECT FORT THOMAS, KENTUCKY PROJECT: 180223 acritical diameter Bid Date 1/29/2021 | | | | | EVELOPMENT | H&W CONCRETE | | ADLETA CONSTRUCTION | |
|-------------|---|--|-----------------------|--------------------|--------------------|------------------|--------------------|------------------|---------------------|------------------|
| | | NORTH FT. THOMAS AVE - COVERT RUN PK TO N. RIDG | | | | | | | | |
| ITEM NO. | SPEC. NO. | ITEM | Estimated Quantity | Unit of Measure | Unit Cost Total | Total Amount Bid | Unit Cost Total | Total Amount Bid | Unit Cost Total | Total Amount Bid |
| 1 | 110 | MOBILIZATION (NOT TO EXCEED 5% OF BID) | 1 | LS | \$15,000.00 | \$15,000.00 | \$18,000.00 | \$18,000.00 | \$4,483.05 | \$4,483.05 |
| 2 | 112 | MAINTENANCE OF TRAFFIC | 1 | LS | \$47,000.00 | \$47,000.00 | \$10,000.00 | \$10,000.00 | \$61,951.23 | \$61,951.23 |
| 3 | 202 | CLEARING AND GRUBBING , (INCLUDES REMOVAL AND REINSTALLATION OF SIGNS AND MAILBOXES) | 1 | LS | \$10,000.00 | \$10,000.00 | \$12,500.00 | \$12,500.00 | \$23,023.20 | \$23,023.20 |
| 4 | 202 | REMOVE CATCH BASIN | 6 | EA | \$10.00 | \$60.00 | \$1,700.00 | \$10,200.00 | \$672.87 | \$4,037.22 |
| 5 | 202 | REMOVE EXISTING TRENCH DRAIN | 1 | EA | \$10.00 | \$10.00 | \$5,700,00 | \$5,700.00 | \$672,68 | \$672.68 |
| 6 | 204/206 | EXCAVATION AND EMBANKMENT AS PER PLANS | 300 | CY | \$20.00 | \$6,000.00 | \$85.00 | \$25,500.00 | \$51.58 | \$15,474.00 |
| 7 | 212 | 4" TOP SOIL, SEED AND MULCH | 5,000 | SY | \$1.00 | \$5,000.00 | \$38.00 | \$190,000.00 | \$11.71 | \$58,550.00 |
| 8 | 212/213 | EROSION CONTROL AS PER PLAN | 1 | LS | \$100.00 | \$100,00 | \$2,700.00 | \$2,700.00 | \$7,814.00 | \$7,814.00 |
| 9 | 402/403 | ASPHALT DRIVEWAY REPLACEMENT | 1,000 | SF | \$9.00 | \$9,000.00 | \$5.00 | \$5,000.00 | \$14.28 | \$14,280.00 |
| 10 | 505 | 6" CONCRETE DRIVEWAY APRON REPLACEMENT | 10,500 | SF | \$12.00 | \$126,000.00 | \$8.00 | \$84,000.00 | \$14.42 | \$151,410.00 |
| 11 | 505 | CONCRETE SIDEWALK | 16,000 | SF | \$10.00 | \$160,000.00 | \$8.00 | \$128,000.00 | \$8.53 | \$136,480.00 |
| 12 | 505 | CONSTRUCT ADA CURB RAMP WITH TRUNCATED DOMES, AS PER PLAN | 8 | EA | \$250.00 | \$2,000.00 | \$1,050.00 | \$8,400.00 | \$310.05 | \$2,480.40 |
| 13 | 506 | VERTICAL CURB | 200 | LF | \$25.00 | \$5,000.00 | \$23.00 | \$4,600.00 | \$40.00 | \$8,000.00 |
| 14 | 506 | VERTICAL CURB AND GUTTER | 150 | LF | \$30,00 | \$4,500.00 | \$58.00 | \$8,700.00 | \$50.00 | \$7,500.00 |
| 15 | 710 | CATCH BASIN | 5 | EA | \$1,500.00 | \$7,500.00 | \$1,700.00 | \$8,500.00 | \$2,418.47 | \$12,092.35 |
| 16 | 710 | DOUBLE GRATE INLET | 2 | EA | \$2,500.00 | \$5,000.00 | \$1,900.00 | \$3,800.00 | \$3,335.76 | \$6,671.52 |
| 17 | 710 | STORM MANHOLE | 1 | EA | \$3,500.00 | \$3,500.00 | \$2,500.00 | \$2,500.00 | \$4,819.57 | \$4,819.57 |
| 18 | 701 | 12" STORM SEWER | 95 | LF | \$140.00 | \$13,300.00 | \$37.00 | \$3,515.00 | \$83.28 | \$7,911.60 |
| 19 | 701 | 15" STORM SEWER | 10 | LF | \$150.00 | \$1,500.00 | \$57.00 | \$570.00 | \$111.56 | \$1,115.60 |
| 20 | SPL | CONNECT DOWNSPOUT TO CATCH BASIN | 1 | EA | \$100.00 | \$100.00 | \$800.00 | \$800.00 | \$78.05 | \$78,05 |

| voor rusted 13/1007 | | rrotogiesens archiesas | /ENUE SIDEWALK PROJECT FORT THOMAS, KENTUCKY PROJECT: 180223 Bid Date 1/29/2021 | | FORD DEVELOPMENT | | H&W CONCRETE | | ADLETA CONSTRUCTION | |
|---------------------|-----------|---|--|--------------------|--------------------|------------------|--------------------|------------------|---------------------|------------------|
| | | NORTH FT. THOMAS AVE - COVERT RUN PK TO N. RIDG | E AVENUE | | | | | | | |
| ITEM NO: | SPEC. NO. | ITEM | Estimated Quantity | Unit of Measure | Unit Cost Total | Total Amount Bid | Unit Cost Total | Total Amount Bid | Unit Cost Total | Total Amount Bio |
| 21 | 714 | STOP BAR, 24" (THERMO) | 35 | LF | \$15.00 | \$525.00 | \$171.43 | \$6,000.05 | \$12.03 | \$421.05 |
| 22 | 714 | CROSSWALK STRIPING, 6" (THERMO) | 350 | LF | \$7.00 | \$2,450.00 | \$27.14 | \$9,499.00 | \$6,01 | \$2,103.50 |
| 23 | SPL | RETAINING WALL | 600 | SF | \$45.00 | \$27,000.00 | \$15.00 | \$9,000.00 | \$46.41 | \$27,846.00 |
| 24 | SPL | HANDRAIL | 110 | LF | \$100.00 | \$11,000.00 | \$210.00 | \$23,100.00 | \$280,14 | \$30,815.40 |
| 25 | SPL | ADJUST SANITARY MANHOLE TO GRADE | 1 | EA | \$500.00 | \$500.00 | \$2,000.00 | \$2,000.00 | \$528.77 | \$528.77 |
| 26 | SPL | ADJUST WATER METER TO GRADE | 8 | EA | \$25.00 | \$200.00 | \$700.00 | \$5,600.00 | \$520.05 | \$4,160.40 |
| | | TOTAL | | | | \$462,245.00 | | \$588,184.05 | | \$594,719.59 |